TECH SET 3 IMPORTANT SCIENCE QUESTIONS

1. Match the following/fa&T &1 fAema FI?

Formula Name
i. CH;COOH a. Methane
ii. CHCl3 b. Ethanol

iii. CH:CH,OH ¢. Acetic acid

iv. CHy d. Chloroform

& I-a, 1-b, 1ii-c, 1v-d
b i-c, 1i-d, iii-a, iv-b
& I-c, li-d, 111-b, Iv-a

d i-a, li-c, 1ii-b, iv-d
Ans -C

2. Which of the following is Electrolytic decomposition reaction?/fle=tTali@d & & HiaT & e
3gce AfAfRar g2

2KClO3 2 2KCl + 30,
2H,0 = 2H, ~ 0,
ZnCO; = ZnO + CO,
2AgBr = 2Ag + Bn,

Ans B
e This reaction is also called electrolysis of water. Thus, in this reaction the decomposition of the
compound is taking place due to electricity.

o 38 JATHAT A FToT FT Taa Ivues i Tgd &1 5 YHR, TH AT H TifAen @

3Ee fdegd % HROT g W@ ¥

e 2H2+ 02 - 2H20 is an example of Electrical decomposition reaction or Water splitting reaction
as electricity is required in it.

e Decomposition reaction is a reaction in which two or more reactants combine to form a single
product.
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e 2H2+02 - 2H20 faegd 3qeaes HATHAT AT STel qeTSTeT HTATHAT T Teh 30T § Fifeh
=g fSotell T 3MaTehar gidr &1 39ges JfAfHar ag 3ifAfhar § 99 & ar o 4 31
HATFPRS AT TH Tahd 396 §od &

3. Fleming's right-hand rule can be used to determine the direction of induced current when the angle
between the magnetic field and the motion of the conductor is:

FATHIT P SIfgel 81T & AT &7 39T IRT &Ry Fr feem AUiRa = & v Far 51 IFhar g o9
YaehIT &1 AR shsereT &l a1l & e &1 HioT g

a.90°

b. 30°

c. 180°
d.o°

Fleming's right-hand rule is a principle in electromagnetism that shows the direction of current induced
in a conductor moving in a magnetic field. It's used to determine the direction of current in a generator's

windings./ FfHT & SIfgTT §1Y faH fdegd Yoehea H Toh fetnd § S gahia &7 # g7 @
Fsaed H IRT arT $r e R@rar &1 sHH 3TN FeReX I asfEa & e fr o FuiRa ==r
¥ faT fRar Srar gl

use Fleming's right-hand rule/ FIf&T & TIfge 81T & AT FT 3ATT

e right hand with thumb, index finger, and middle finger perpendicular to each other. / IfgeT &I &l
3T, i 3R AT S & wh-gE & owad

e The thumb points in the direction of the conductor's motion relative to the magnetic field. / 3-1?]337
YaehIT &7 & HIUET =lefeh ol et hr e T A e Bl

e The index finger points in the direction of the magnetic field. / Toiell YeehIr &1 1 feam Hr 3R
SART AT B

e The middle finger points in the direction of the induced current/ FEIHT 33Tell YRA URT 1 f&m &Hr
3R FART e &

4. The magnetic field lines inside a bar magnet are directed from:
SR o & 3] gehg & Wt A & FERT g &

a. south pole to north pole/zfaioll ga & I ¢a

b. centre to south pole/ag & gfaTol ¢a

c. centre to north pole/dg & 3T Yd dh

d. north pole to south pole/3tRT Ya & cfaol ya a=
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The magnetic field lines due to a bar magnet are closed continuous curves directed from north to south
outside the magnet and from south to north inside the magnet.

mﬂw%waﬁmm%@ﬁﬂw*wwﬁmﬁaﬂ?ﬁéﬁmﬁwaﬁﬁg
3R gow & 3T ST F W A 3N FERT gl §

5. What aids in preventing the mixing of oxygen-rich and carbon dioxide-rich blood in the heart?/gea &
HirdisTeT Feobel 3R T STEHTFATSS Jored T & TAAOT T Aol F AT HIAAT AT 872

a. The wall between the chambers/&elt & & $ir daR

b. Pulmonary vaIve/gﬁEFgw@H dred

c. Tricuspid valve/F$Eds ared

d. Aortic valve/FgrgHaT dled

e Separate chambers of the heart help prevent mixing of oxygenated and carbon dioxide-rich
blood in the heart. Both oxygen and carbon dioxide have to be carried by the blood, so the heart
has separate chambers

o T A IS FoFa AR IS SHTFASS Jord (oA & [AHOT A Aol H geT F el
31T FeT FAGG A g. Jrdreiel R FIeeT SBIHTFASS aleAl I Fd GaRT of AT I3 g,
AT g & UTH 3eldT-3eleT HaT gid o

6. Which of the following is the INCORRECT feature related to animal reproduction?/fA&faf@a & &
FeT A ARV T Tt & Fefta e §?

a. Seminal vesicle is a gland present in human males/AffeTer dffdel ATd T # HigE T A §

b. Regeneration is not the same as reproduction/gﬂé?-l?r Uoleled & AT T80 &

c. In Amoeba, splitting of two cells takes place in any plane/3/&T & ar AT F1 AHTSTA ThaT dof
;g g

d. Fertilization of egg takes place in the uterus in human female/HATsId AGT & 373 T VT TR~ &

BT &

e The process of fertilization occurs in the fallopian tubes of the human female.
e Cervix: The cervix is the lower portion of the uterus.
e The cervix forms a tube that opens into the vagina, which leads to the outside of the body.

o HT AGT & Baardr At & g Hr giskar axdr 81
o IHMY IMaT: IATRT AT, AT T AT FEAT BT B
o R AT TH ATl T § S AT F Gereh §, A R F ag Hi A A L

7. Which of the following compounds possesses the highest boiling point?/famfaf@ad & & f&g A=
H FaYAH TIH IF &2
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a. Methane/#H s
b. Acetic acid/tfafes vias
c. Ethanol/33=1Ter
d. Chloroform/aeRI%reT
o UfARE 31FcT & FIUATH 118°Co
o  FARIGEH T FaYeAieh= 61.2 °C
o AT F FaYAH = -162°C
o ZIicI T FFUAh = 78.37 °C

8. What will be the next homologous series member of compound C6H10?/TifA % C6H10 T 3TaTelT

AT Aol HGET HleT grm?

a. C/Hqe

b. CsH1o

c. C7H1a

d. C7H12

C7H12 - : Heptyne formula Cn Han-2

9. Breathing pores are found in which of the following animals?/2arer T Aefaf@d & & g

groft H 91T S §?

a) Humans/HeJsg

b) Fish/Aaelr

C) Earthworm/év_gtf
d) Cockroach/faeracer

e Breathing pores are found in insects such as cockroaches and roaches:

e Cockroaches have small openings on the sides of their bodies called spiracles. These

openings are two pairs in the thoracic opening and eight pairs in the abdominal opening.

e Cockroaches also have ten pairs of spiracles

o T Y, dIIT IR TTeraee S Fret & Jv I &

o FHIFIT & WR & FaIRT W BrR-BI B g §, Do 9@ Y Fgd §. I g ar g

geT &g 3K 36 S 3cdw g F g &
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10. Identify the INCORRECT order for the number of valence shell electrons./&asTehdr el

SolFClell Sl TEAT & ToIT Ield e I Ugdled Y|
a. Li Be <B<C<N

b. AlI<P<Si <S<Cl

c. Na Mg <AI<P<Ar

d. B<N<O<F<Ne

11. From total elements, elements were discovered through laboratory

processes./el dcat 7 4, dcat I GisT TAETRMET Ifsharsil & #ATETH

q &1 |
a. 114,22
b. 114, 20
c. 118,26
d. 118, 24

e There are currently 118 elements in the periodic table of chemical elements, 24 of which
have been discovered through laboratory processes.

o IS dcdl Y 3mad IRON F 37 FHEY 118 dca &, yAeRmer ihansit F sRT
$el 118 dcal # & 24 dcdl & GieT #1315 ¢

12. Cork is impermeable to water and gases because of -found within its cells./@ieh
gt 3R WG F AT Ay § FifF sadhr Rt & qrT ST B

a. Lignin/farfdetet

b. Cutin/&Fgfes

C. Cellulose/@?ﬂﬂ’l?
d. Suberin/{qﬁﬁ?r

e The walls of cork cells are thickened with an organic substance, suberin, which makes
these cells impermeable to water and gases

o Fih R H EaR Tk Freifereh gerd, GaRaT & sga A g ¢, GaReT 5
RIS T el 3R A & gfd ey S=rar &

13. The manufacturing of refrigerators that do not release chlorofluorocarbons has been made
mandatory throughout the world. How will this help to prevent ozone depletion?/gf=ar 8RR #
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FARIFARIATST T BIger arel Ihotex 1 AT 3AIRT X &ar =m &1 I8 3T eRor

& Aol H Y HAcg HM?

a) It will reduce the release of CFCs that react with ozone molecules./ag ISt 3-TUI3ﬁ & Ay
gfafshar &l atel Huwar Fr Rers Fr wa Hem|

b) It will help convert oxygen molecules into ozone./Ig 3iierdIcTal ULt T 3ieilet H Teo=t
H Ace T

¢) CFCs will change into ozone molecules./HITHHT 3SieT 0T H Seel ST

d) It will reduce the production of CFCs from oxygen molecules./S8& ifereiisiel 30731 &
TR T 3cTTee he gl e

e Refrigerators use chlorofluorocarbon (CFC) gases. By converting ozone molecules (O3)
into oxygen molecules (0O2) as they enter the atmosphere, they reduce the thickness of the
ozone layer, which protects us from the sun's UV radiation.

o UMPoREY FelRITFARIDIET (FTHEN) IET T 3UGNT F &1 TgASH H JALT Hel &
3NSieT 3HUT3HT (03) T JfeFelsler HURHT (02) # aRafdd ek, I ISl Wl &I A
N FA T &, N g gF A gdr Ao § g ¥

14. make an isomeric pair./ T ISHEARE A g1 B

a. Butane and 2-methyl propane

b. Propane and butane
c. Propane and 2-methyl propane
d. Butane and 2-ethyl butane
e Butane and 2-methyl propane are isomers:
e Explanation: Butane and 2-methyl propane are isomers because they have the same
molecular formula, C4H10, but different chain structures. This is an example of chain
isomerism.

o P IR 2-TAUGS YU HSHA &
o TUSEHIUT: sgeeT 3N 2-TAUSS WU HSEHF § Fhifeh 3eieh H0Tideh FF C4H10
AT &, olfehel HWeT AT el &1 Tg AT GHAGIAA HT Teh G600 ¢

15. In which of the cell, pyruvate is formed from glucose?/aIfRAHT & A,

To[hlol § UISRdC SeTdl &7
a. Cytoplasm/aIfRuerged
b. Ribosomes/ATSSIEH
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c. Mitochondria/ATSeiehif=gaT
d. Nucleus/dgeh

e Glucose is converted into pyruvate in the cytoplasm of the cell. This process is called

glycolysis.
o HIRAFT & FRAPIGeT H Te[lel UIGHAC H TGol STl &1 TH TTHAT I TellShleSad
Fgd &

16. Which of the following is a use of plaster of Paris?/Celieex 3iTh IR &1 39T He=ifaf@d
F I Rraet Rear Sar §?

(i) Manufacture of glass, soap and paper/&e, g AR rereT H1 faor

(i1) As a cleaning agent for domestic purposes/’ﬂ'l?—[\ 3ccRdl & fav §wIg Tele & ®9 H

(iii) Making toys, materials for decoration and for making surfaces smooth/f&cllal FATAT, HllaT
F foT gl s 3R gdgt F R s

(iv) For baking/aféar & forw

a.only i

b. only ii
c. Only iv

d. only iii

e Plaster of Paris has many uses:

In making plaster casts to set broken bones

As dental fillings to fill gaps between teeth

In making blackboard chalk

As a fireproof coating to protect buildings from fire

In making sculptures and toys

In making moulds and models

To create a smooth surface before painting or decorating walls and ceilings
To seal holes in laboratory equipment

0O O 0O O O O O O

To smooth decorative items and surfaces

° Wﬁ%ﬁﬁﬁ%a—éw%
o T g3l & 8 el & T Tareel e e
o Gidl & 1 & AT A A & TIT G T & §T H
0 Solhdls T Selled H
o SHARGI H 31T F FI & fav 3T difder & w0 F
o HiFT 3R Ryeey ey ¥
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ara AR Alse I H

o SR 3R Tdl W YT I Toae & Ugel el Adg Tl H
o YIRRITT H 3Ya0ll & &gl o deg Fad & foIv

o HIlGC F HALT U9 Hdg [Adel Tl H

o

17. Carbonisation is a term used to describe the process of transforming dead plants into over
a long period of time. /&SR0T Teh Ase & ToTEhT 3TN ofd FHI ooh Hol diLd I =)
Jeolel T IfohdT &1 aufed &tel o o famam ST

a. petrol/dgrel

b. fossil/Srared

c. coal/arIer

d. diesel/3reTer

18. Select the element with the highest valency from among the following. /afaf@ad & & god
HYF HAISTRT dTell ded el |

a.Ca

b. Al

c. Li
d.N

19. Which of the following formulae does NOT represent the heat produced in a conductor due to flow
of electric current?

fAeAfaf@a & & &l a1 g7 [ggd 4rT & Jarg & HROT Uleleh # 3ceet SSAT A AT ST 872
a. H=V*/R

b.H=I1?Rt

c.H=1R%

d.H=VIt

e According to Joule's law of heating, heat produced H=I12 Rt, where | is current, R is resistance
and t is time.

o o & A fATH & ITER, IcUeel ISAT H=I2 Rt §, 5161 | &R &, R 9o § 3R ta#7 Bl

20. reduce (s) the size of large fat globules, allowing enzymes to work more effectively.

T8 TN TARYeH F IHHN T FH AT ¢, ITa8 TsH 3w gordr So1 § 1A F: 91
el
a. Succus entericus/JFhg TeREHT
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b. Pancreatic juice/3eaR™I &
c. Bile salts/faa oIgur

d. Hydrochloric acid/gTs3iFellReh THAS

21. We should refrain from using plastics because ?

EH CATlecsh I 3IUANT el § 91 A1fgT Fifeh ?

a. enzymes are unable to break down plastics /TSTSH Tollf€ea & dise & 3GHT §
b. plastics are water soluble/ceTfes el & gof=ieler gl &

c. plastics are not long-lasting/collf&ce s THT deh Telel aTell T8l 8idTl &

d. plastics are easily degraded by insects/CelTi¥cdh HISI GaRT AT & IS¢ & ST &

22. Which of the following is NOT TRUE about vegetative propagation in plants?/gitf & a=dfas JaR

& IR H Aefaf@d & & i a1 s T 787 82

a) Plants bear flowers and fruits earlier than those produced from seeds. /Aty Sieii & 3ceeT gl dTel
diel T Jolr H gl Gl HR ®el o Bl

b) Plants that have lost the capacity to produce seeds can be grown./at Gler &ieT Yer aat &r &7Har
@ g § 37 3T ST Fhell B

c) Plants produced are genetically different from the parent plant./3caried dter 3-117:133% 7 el
g ¥ e g1 &l

d) Plants are grown from root, stem and leaves./dt&r 315, d= 3R gfaalt & 39T 1T B

23. Which of the following stores starch, proteins and oil granules in a plant cell?/fA&Ifaf@a & & i
qier fr FIfNFr A Ford, N 3R Aol HOHRIST FI FIET HT 87

. Protoplast/9Tecaree

b. Chromoplast/shIAcaT

. Leucoplast/cgehItaree

. Chloroplast/&FdRIcaFe

Q

o O

e Leucoplasts are a type of plastid found in plant cells. It is colourless. Leucoplasts store starch, ail,
and protein granules.
e There are three types of leucoplasts:
e Amyloplasts: Synthesize and store starch.
e Aleuroplasts or proteinoplasts: Helps in storing proteins. It is mainly present in seeds.
e Elaioplasts: Stores oils, fats, and lipids in plants. It is found in the embryonic leaves of oilseeds,
citrus fruits, and the petals of many flowering plants.
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o TYHITART, Telli¥esS T Teh YehR ¢ i Giell hr I3 & arm Srer §. T8 WIEeT @il &.
CIHITATEE T, AT 3R AIET HIOI3TT I HIEIT FAT &
o TIHITART e THE & B &
o TUHATSAICARE: T & ead 3R TIdia i &.
O UeRITAREE I WEHICAREe: WElT & HSRUT # Heg Rl §. Ig ALY &9 4 oI # &g
gIaT &.
o Uams3tenee: Wt F e, awr, 3R e A FIda axar §. I8 fAoe, @ee wd, 3R &3
el arer 9l & 9@ & HuT & gdr A IR ST g

24. The magnetic field strength inside a current carrying solenoid is:/ &TRT YaTigd BelASs & 3icT
qadr 8 A1 ard ¥

a. less at ends and more at centre/faRT W FH 3T Fg W 0=

b. uniform and non-zero/UshHATT 3R AR

c. more at ends and less at centre /fRT W 31f8% 3R Fg W &

d. zero/%]\FJ

e Asolenoid is a type of electromagnet. It is a coil of wire, often wrapped around a core material
made of soft iron.

e  When electric current passes through the coil, it produces a magnetic field inside the solenoid.

e Solenoids have many applications, such as car starters, hydraulic oil valves, and washing machines

o WS U YR &l faggd I 8T §. T6 ar H Tk Fsell e B, [od ey o &g @
Tl SR @A & TR 3R A9 ST .

o o faegd urT FIN § g TR B, O Tg Wolalss & 3T TIhT 81T choed A 2.

o HIIEAISS F FS YA §, S & R I, gregiicie Jiae dred, 3R aifRier wdieT

25. Three resistors of 9 Ohm each are connected in parallel. Their equivalent resistance is:/31T & dieT
IS FAAR H 3 §T &1 3T TAJeT Tk &

a.27Q

b.9Q

c. 180

d30

Solve

1/Req=1/R1+1/R2 +1/R3=1/9/+1/9+1/9=3/9

Req=3Q



